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R4 108118 108128[ 108138 108148
/J\1 BENMNER 0.086 0.085 0.078 0.07
N2 [EFIER 0.046 0.049 0.051 0.045
INS | 0.048 0.05 0.053 0.052
MU /NER 0.092 0.083 0.065 0.075
/N5 |REE/NERR 0.083 0.074 0.07 0.072
N6 [FIGE/INERS 0.076 0.071 0.074 0.073
INT BRIV 0.087 0.085 0.088 0.088
N8 |FEF/INER 0.088 0.129 0.12 0.077
N [[IFE/NERS 0.067 0.068 0.081 0.083
/MO | B LN - 0.069 0.079 0.068
MBI NS
M2 | BRBDNER 0.092 0.079 0.104 0.086
M3 | REE/INER 0.064 0.063 0.07 0.07
M4 [ B/NER - 0.073 0.071 0.103
M5 |BEE/INER 0.064 0.072 0.065 0.065
M6 | BREFIIE — /MR 0.056 0.063 0.063 0.068
M7 [EBREFIINEZ/DNER |- 0.073 0.072 0.066
M8 [ R/ NEERS 0.058 0.064 0.06 0.061
MY [ZIR/INER 0.083 0.081 0.092 0.082
IN20 [ RZB/NER
IN2T | TR N AR 0.083 0.085 0.067 0.068
IN22 2T /NERR 0.05 0.051 0.057 0.052
23 [JEFt /RS 0.078 0.099 0.059 0.083
IN24 |RTA H/NFEAR
IN25 |FORI/NERR 0.083 0.092 0.072 0.095
/126 [t/ (s 0.069 0.061 0.071 0.07
IN27 [BE R INERR 0.054|- 0.059 0.066
28 | — /R 0.08 0.071 0.075 0.075
N29 (RIS Z/NERS 0.073 0.075 0.076 0.071
/N30 [BRAE /MRS 0.063 0.067 0.071 0.063
N3 [HEE /DN 0.067 0.06 0.068 0.065
/N32 | BR)I/NERR - 0.117 0.112 0.113
N33 | KIR/INFER 0.091 0.094 0.087 0.088
N34 [T/ 0.068 0.088 0.066 0.075
F1 | BERER 0.066 0.067 0.106 0.098
F2 |[FEEFHER 0.06 0.061 0.069 0.068
h3 [P ER 0.062 0.072 0.071 0.07
th4  |deHPER 0.071 0.065 0.069 0.084
5 |FCERER 0.065 0.069 0.066 0.08
h6 |[FEFHPER 0.072 0.076 0.073 0.073
F7 [IUTHER 0.054 0.078 0.052 0.058
F8 | BEFER 0.061 0.061 0.058 0.065
F9 | ARAEFER - — 0.073 0.079
10 [BRET)I P 0.092 0.078 0.077 0.092
b1 [faldk heeds 0.081 0.068 0.07 0.087
12 | KB 0.059 0.059 0.078 0.063
13 A E R PR 0.082 0.077 0.082 0.077
th14 [;AIEgfE PR 0.102 0.091 0.092 0.093
15 | Bk PR 0.097 0.098 0.099 0.102
th16 [db_E R 0.088 0.098 0.076 0.098
17 [HEFER 0.107 0.118 0.104 0.107
=51 |[HhiIikFaR 0.048 0.066 0.049 0.051
22 [z EEESKR) 0.045]0.053 0.06]-
W |ESHHE — 0.083 0.084 0.096
%2 |FEFHLHEE
%3 Aldk s E 0.072 0.063 0.065]-
4 | MRESHE 0.09 0.08 0.082 0.084

B REHPDHUTHE

=A{E FRFFINERE 0.129

&=/IME ML FEESK 0.045



